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QUESTION: 122
What is the value for "answer"?
function power(n,p) {
if (p==1) {
result = p;
} else {
result = p*power(n,p-1);
}
return(result);
}
answer = power(3,2);

A. 0
B. 1
C. 2
D. 6
E. 9

Answer: C

QUESTION: 123
What type of resource can Flash MX 2004 natively use to retrieve dynamic data?  (Choose TWO)

A. Text files
B. XML files
C. Java class files
D. XSL documents
E. Oracle database

Answer: A, B

QUESTION: 124
What native object allows two separate Flash movies to communicate with each other?

A. LocalObject
B. SharedObject
C. LocalConnection
D. SharedConnection



Answer: C

QUESTION: 125
What is the value of y?
x = 3;
y = x--;

A. -3
B. 2
C. 3
D. Syntax error

Answer: C

QUESTION: 126
Where must ActionScript 2 classes be located?

A. components
B. external files
C. frame 1 of _root
D. top layer of timeline

Answer: B

QUESTION: 127
What is used to create frame rate independent script-based animations?

A. while
B. setInterval
C. gotoAndPlay
D. onEnterFrame

Answer: B

QUESTION: 128
If the local date is Sunday, June 2, 2003 and the lines of ActionScript are executed, what is the value
of myDay?
var  my_date:Date =  new Date();
var  myDay:Number = my_date.getDay();

A. 0
B. 1
C. 2



D. Sun
E. Sunday

Answer: A

QUESTION: 129
What defines a class member within an ActionScript 2 class that is NOT accessible to instances of
the class?

A. hide var _nCount;
B. class var _nCount;
C. static var _nCount;
D. private var _nCount;
E. protected var _nCount;

Answer: D

QUESTION: 130
What ActionScript error will occur for the code below?
function snap {
k = 42 % 0;
}

A. % is not a valid operator
B. function must return a value
C. function declarations missing parenthesis
D. there is no exception processing for a division by zero error

Answer: C
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